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Answers

1)	 False. The largest 3-digit by 1-digit multiplication calculation is 999 
× 9. This calculation would require 3 lots of regrouping: the 80 ones 
regrouped into 8 tens, the 80 tens regrouped into 8 hundreds and 
the 80 hundreds regrouped into 8 thousands. It is impossible for 
regrouping to occur 4 times when multiplying a 3-digit number by a 
1-digit number. You would need to be multiplying a 4-digit number 
by a 1-digit number for regrouping to happen 4 times.  
 

2)	  

D is the odd one out because it is the only calculation with the answer 2394. The rest of the calculations all have an 
answer of 2484.

3)	 453 × 9 = 4077

499 × 8 = 3992

851 × 6 = 5106

851 × 6  is the closest to 5000 because it is only 106 more than 5000. 3992 is 1008 less than 5000 and 4077 is 923 less 
than 5000.

H T O

9 9 9

× 9

8 9 9 1
8 8 8

a) 

2 7 6

× 9

2 4 8 4
2 6 5

c) 

4 1 4

× 6

2 4 8 4
2 2

d) 

3 4 2

× 7

2 3 9 4
2 2 1

b) 

6 2 1

× 4

2 4 8 4
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3)	

H T O

4 5 8

× 6
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8 0 8

× 2

1 6 1 6
1 1

a)    458 × 6 = 2748

c)    808 × 2 = 1616

H T O

9 8 1

× 3

2 9 4 3
2 2

H T O

6 7 0

× 5

3 3 5 0
3 3

b)    981 × 3 = 2943	

d)    670 × 5 = 3350	
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